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1 09:00~ | f=&2 vs ¥ | a—<v3vbk vs
2 09:50~ | F%iE vs a—IIUM fED vs
3 10:40~ | HLEHE vs ¥ H FEiE vs
4 11:30~ | 1=&£2 vs e ¥ | vs
5 12:20~ | F%i# vs EBFFC | LB vs
6 13:10~ | ALEIKEE vs = EBFFC vs
7 14:00~ | NSP(S) vs EBFFC %= vs
8 14:50~ vs vs
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1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
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8 14:50~ vs vs
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1 09:00~ vs vs
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3 10:40~ vs vs
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6 13:10~ vs vs
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8 14:50~ vs vs
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1 09:00~ vs vs
2 09:50~ vs vs
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4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
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8 14:50~ vs vs




BiERX U—-10

2020 /IR 22 = FHwig—)— T BIEIE ) — 7 (DB B X)

4F298 (7K)
U—10(E) u—10(0)
HERIS THNTSUE(C)
SELEF (FaD &m0 FHR  IXK g ¥ ((FED (F#) = H
1 09:00~ MR vs & TRNR vs
2 09:50~ w— vs IRAR R vs
3 10:40~ MR vs NSP(N) - vs
4 11:30~ - vs & HE&FC vs
5 12:20~ | HAEFC vs IR o] vs
6 13:10~ vs vs
7 14:00~ vs vs
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1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
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8 14:50~ vs vs




BiERX U—-10

2020 /IR 22 = FHwig—)— T BIEIE ) — 7 (DB B X)

598 (L)
U—10(D) u—10(0)
HERIS ZEEREI IR (B)
RELF |(FD ABEE (FH%) NSP(S) g ¥ ((FED (F#) = H
1.09:00~ | AEHE vs FEE | EBEFFC vs
2 09:50~ [3—< 5>k vs E®EFFC | NSP(S) vs
3 10:40~ | F%iE vs NSP(S) |a—<3 k vs
4 11:30~ | HLEHE vs EBFFC | F&ZE vs
5 12:20~ [3—< 5>k vs NSP(S) | L&A vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
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3 10:40~ ¥ | vs =] FEE vs
4 11:30~ | 1=&2 vs FLiE &I =2 vs INRTIL =
5 12:20~ vs BLLE vs gL =%
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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1 09:00~ vs vs
2 09:50~ vs vs
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4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
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5 12:20~ vs vs
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1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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6 13:10~ vs vs
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1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
58248 (R)
Uu—10(0) Uu—10(0)
HAER5
RIHEHEF |(FED (F&) ¥ |(FED (F&) E
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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2 09:50~ ¥ | vs EBFFC| f&£2 IRR vs ABE &
3 10:40~ vs
4 11:30~ ¥ | vs a—3IUh EBRFFC ez vs AEBEHE IRAR
5 12:20~ | 71=&2 vs E@EFFC |2—<3h vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
5A31H (H)
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1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
5A31H (H)
U—10(0) u—10(0)
HERG
RIGHE |[(FaD (F#&) g ¥ ((FED (F#&) = ¥
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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RELEF |(F8D (F#) g ¥ ((FED (F#) = H
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
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1 09:00~ e vs NSP(S) | nL&HmA BRI vs R ISZTIL
2 09:50~ | ALEIKEE vs a—vSUN R == vs FADS gkl
3 10:40~ vs BRIl vs NATIL | FADS
4 11:30~ e vs a—<52 k| NSP(S) |&EEFHRED vs FADS Y
5 12:20~ | HLEHE vs NSP(S) |a—<3 k| =2 vs wHE [ EEFERE
6 13:10~ vs EBFRAD vs INRTIL =%
7 14:00~ vs vs
8 14:50~ vs vs
6878 (RH)
U—10(0) u—10(0)
HERIS
RIGHE [(FaD (F#) g ¥ ((FED (F#) = H
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs
6878 (RH)
U—10(0) u—10(0)
HERIS
RIGHE |[(FaD (F#) g ¥ ((FED (F#) = H
1 09:00~ vs vs
2 09:50~ vs vs
3 10:40~ vs vs
4 11:30~ vs vs
5 12:20~ vs vs
6 13:10~ vs vs
7 14:00~ vs vs
8 14:50~ vs vs




